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Place value chart:

Decimals

You must
memorize it!

Whole Number
Part
Thousands Ones Decimal Part
Family .
Thousand hundreds | Tens | Ones Tenths | Hundredths | Thousandths
Decimal Point
Units ' Tenths
l‘____Thousandths
Y Decir'nal part
Whole number
Word Form:

How to write 25 . 386 in the word form?

25 . 386

L\

Twenty-five and three hundred eighty-six thousandths

OR Twenty-five point three eight six




1) Write the following numbers in words:

a) 57.324
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c) 314.08
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2) Write the following numbers in figures:

Use the place value chart
to help you find the position of each digit
and make it easier to solve.

>
a) ’l_‘_Qvgq and ﬁg)y five hundredths. A S &

b ) Seven hundred thirty onj seventy five hundredths. 431 i
¢ (Six hundred fourjand two thousandths. 604. 2. G o

d agd seven tenths. 4] «
e ) Ninety point nine one two qo QN




Value and place value:

Place value can be defined as the position or the name of the digit.

T.h(-a value is how much the digit is worth & it depends on the
digits place in a number

Use the place value chart
to help you find the position of each digit and
~ make it easier to solve.

i

Write the value and place value of the underline digit:

18.347

Whole Numbers

Thousands Ones Decimal family
Family ' .
Thousand | hundreds | Tens Ones Tenths | Hundredths | Thousandths

1 8 | .| 3 4 7
Value: 0 0 |, 0 4 g

Value: 0.04

Place value: Hundredths
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3) Write the value of the underline digit:

a
)2.478 b) 6 6.001

0.09 oR _-ﬂ'\unc\f&,\h L0 OR 6 Tens

€)17.2 d) 1473 .907

0.2 oR &Tenths 1060 OK { Hhousand

e)51.99 4 )84.08 ths
Housondll | "ok s P,

0-00Y4 ok

4) Write the place value of the underline digit:

Name Z?]’; the cl;@%

a) 34 .875 b) 55.65 4
Tenbths housandths

010992 d) 1,7 42. 907

Hundredhe Hurdred

0)88.207 74 641
\Aundtedihe Mhousandtha

2)21436.25 h22.14

Ten Mneusond Tentg




Expanded Form:

Writing the number as the sum of the value of cach digit

Example: Partition the number 25, 396 ?

25.396=20+5+03 + 0.09 + 0.006

S) Partition the following numbers:

a)276.9

200 +50+6 £0.9 e

o

b) 63 .214

.0 -[-3 s ()2+OJ‘ + 0, OOLI G/Q

g
60 +3 +to+7!55+/000
c) 71 . 601

70 +| + 0.6 -+0.p00

d)311. 04
00 + [0+ + 0.0




6) Answer the following:

- The digit in the hundredths place in 21.293 is q

- The digit in the ones place in 74.013 is -

- The digit in the tenths placein 58.17is _|

- The digit in the thousandths place in 74.013 is 3
Q] Q&’ = 70 000 + 400 + 20 + 1 + 0,08
~

- 9837.124= 9000+ 206 |+ 30+ 7+[ O] | +0.02+[0.00F

7) Complete the table:

Standard
Words Partition
(figures)

Six hundred five point one (4085, a7 GO0 + 5 + 0-] + O 09 +0:0C
nine seven

Sy four andl %w64-817 60 +4 +0:F +0: §l-+0-0C
Al hundved evén

aﬁM‘H’DLL? 0 +3 + 0.8 +0.05
one hundied Joudy 14335 |00+ 403 +08-0.
e pcﬁh)" el
Lve

Twenty-three and eight 23, (508 20 .-:,-5 +O.008
thousandths




F

raction can be expressed as decimal: Place the

numerator to the
right of the decimal

point
X2
R
1 2
Se— = Fe—_—
5 10 One.digit af'ter
decimal point

because
denominator is 10

Place the whole
number to the left
of the decimal

Make equivalent
fraction out of 10,
100 or 1000

Two decimal places
after decimal point

2) X5

because
denominator is 100

X5

Place the whole
number to the left
of the decimal




8) Complete the table;

Fraction Decimal Percentage
26
2—1'5— Q-—-Qé
S9 oMy 44%
/0o
2x4 . 8 7
254 |po 0.08 8 o
3 0.39 2 q7
\ 06 s
6 006 6%
(D o 2 A
TR bk o4 \Y a
50 ¥ {00
B .40 | oy Lo/
20 X< |00




Compare & Order:

* Compare and order between the following numbers:

48 /

4.826 /

4.08 / 4.006

STEP I: Stack tha numbare

STEP 2: Add zaroe co that

being compared. Line up @ach number has the same
tha decimal pointe numbaer of dacimal digits.
1.8 1.800
4.826 4.826
4.08 4.080
4.006 4.006
STEP 3: Compare each place | STEP 4: Order the numbers
value ore by ong. If a from least to greatest or
number i€ the came, move |greatest to keast Herag,
to tha naxt place they are ordared from

keast to greatast.
1.006.4.030.4.800.4.826

Pemove the zeros you
praviously added.

4,006, 4.08, 4.8, Y.826

10




9) Write (>, < or = )to make the following statements true.

a) 7231 | > | 33.98 b) 9.57 | < | 9.61

c) 23.80[ = | 23.80 d)44.701 | < | 44711

e)31.01 | < | 31.10 34 [> ] 3214
34006

£)82.35 | < | 8235 h) 24.006 |< 24.060

10)  Order the following numbers starting with the smallest.

47 nale SO -

4
X

C“a’«\"-» CL&SAZ{' Aecifra

8600 9100 8314 | 8630/ 8316 P

— 2314 /9316 ] Z-Goc/ 8.630/ 9-loo

1210/ 930/ 9.05 / 12.16 / 9.37

— 9.05/ .30/ qgg—t/ 12.10 ] 12:1&
:21 ':HL/ 7//K243 / 32% moxeﬂg%

o0  UYX2s .
Rtk ) BT N 707 ;243

}
o
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To represent a decimal on a number line, divide each segment of the
number line into ten equal parts.

example: label 8.4 on a number line.

To represent 8.4 on number line, it will be between 8 and 9
Jump 4 jumps, so you will reach 8.4

The arrow is four parts to the right of 8.

11) Label the following numbers on‘the number line below:

12
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Rounding:

e How to round decimal numbers?

13




Step 1 ‘ Underline the digit in the place value that

you are rounding to.

Step 2 - Look next door:

S and more add one more

4 and less let it rest

Step 3 - Change every number to the right of the

underline number to zero

Example: Round 34.818 to one decimal place?

34 818= 34.800=348

Example: Round 34.818 to nearest whole number?

n+1

34 818= 35.000=35

12) Complete the table by rounding the following numbers:

14




To the nearest
100

To the nearest
whole number_

To one decimal |

place

a2

1M 500 sS4 S4%.3
289.58 2060 :gz'zéftg ) 229.6 "
99.95 s ool | op. o™
661.021 e 66| 6 6l.o
147.647 | & 4g 147. 6
33.142 o 33 3 3.
9 423.001 O\U‘Oo o\)q €13 g yz3.0
155.992 LEVG \S6 l\ Eﬁﬁgl
301.204 00 30\ 30\.7




LupLracuny:

Example: 13.7 + 5,34 =

Two rules must be applied:

Rule 1 - The decimal points must be lined up before

adding or subtracting any decimal numbers.

Rule 2 ‘ Add place holder zeros to help.

Holder zeros

1317170
e
+05|.(34
29 .04

13) Solve the following:

a)

O o+

'. o RO
B e (o £ 3 4
| ZB +3

)

%C
| 12
43
| 56

f)

+

l

5 .
3.

\ : e) 5
C%. 0 g‘;-

9
4
E-

16




o

g) Difference of 21 and 8.7 h) Sum of 3.5 and 7
T
Yo BB
Ri A0 L Y
]2 30 \Q - S
Fill in the boxes with the correct numbers to make the
following statements true: ) 6-;%‘
3.24
a)1.42+| S, 501=6.44 b)6.74|2.S | =324 506
6.9 |
51~ N.53 | =043 d) [©-53 +0.68=1.25 .g: 6%
o Y .S 4
o83 @2
> e) 83+|U.34|=13.06 fyl4.92]|—- 45 =332
| 3\@6 3.372
E %z, 30 -\'_._E\_°§_9,
36
e) 034+, 6 |=1 f)3.2+]1 4.8 | =10
<
LD Joo
A.qlo -’ )/2.2
- OQ ?)q

17




Double and Half:
\'.

* To double a number:

First you have to partition the number then double it
Example: Double 4.619

Partition=4 + 0 ¢ + 0.01
Double=8 + 12 + 0.02
Answer =9.22

* To half a number:

First you have to partition the number then half i
Example: half 8.427 Odd numbers before
you half it, add a zero

Partition=8 + 0.4 + 0.02

: Half 0.7
half=4+ 0.2 + 0.01 Example: Ha

Half 0.7 is the same as

Answer = 4.21 half 0.70

0.70=0.35




15) Complete the following table:

Half Number Double
B4 20 1o
3 \}g. ] ') LLQ‘ 4.2 ga a)q
Rnd &P -
M ‘\g\\% &§ 2xo0l \\(/60 *: +c(>) Fflm 64.84
+ O . ,
. & [Z . 0| Q:_))O-\-Bi-- ui?.-\.o 8.

e =
8oq+(3t-"—
3)<<:\’ﬁ)%3€* "‘\-35 &N 819 -~ | * '

[

s — ;
4) 5 ¥ 4 1Y

7 3 |
9 \nal] W= th LA

s mataki o

OK /Oa//fﬁow ;

60 +4 +0.83 +0.0°L
\{C\\Of\gr C 20 +9J + B DY = 3'2.1—\\
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Multiplying and Dividing:

Multiplying by 10, 100 and 1000:

When t}}e multiplier is 10, 100 or 1000, we move the decimal point
to the right by as much as zeros after the | in the multiplier.

N

Example: 8 .59 7 x 10 =85.97 The number is
getting larger

MmN
8.597x100=859.7
8

)

397 x 1000 =28597.0

Dividing by 10, 100 and 1000:

When the multiplier is 10, 100 or 1000, we move the decimal point
to the left by as much as zeros after the 1 in the multiplier.

N

Example: 573 .1+10=57.31

The number is
getting smaller

(A
573.1+100=5.731
573.1+1000=0.5731

16) Find the following:

20




7 e 5 e
2)5.67% 100 = 567 07,67+ 10= 0. G
@ @
€)27,3+100=0.273 d) 53100 = 53O
© @

e) 12.36 x 1000 = 2 360

z

g) 8.9x100=2390

f)26.8+100 = O.26%

3
h)19+1000 - O-O\Q

17) Fill in the missing numbers:

a) 1,23 X 100 =123

¢) 155,35 162 | =1.553

b) 4131 =1000] =0.413

Nege Cpf'ffl"L'
d) | 7.3 |x1000=7800
E%%)DDO
f[6,.Qf+10 =3.99
3,00 0= 22

Multiplying & Dividing Decimals:

21




Ste

pl ‘ Remove any decimal places

Step 2 - Multiply / Divide as normal

Step 3 - Put back the same number of decimal places

in the answer

Example 1: 23 x 0.4 =

The question has only one
23x4=92 decimal place So Answer will
have one decimal place

Answer=9.2

Example 2: 1.2x0.2=
The question has only two

12x2=24 decimal places So Answer will
have one decimal place

Answer = 0.24

Example: 5.6 + 8=

The question has only one

56 -8= 7 decimal place So Answer will
have one decimal place

Answer = 0.7

18) Solve the following:

22




D) 2Eeds o
43 L4273

- of dgike
€)063+7= 5, oQ d16+4= .0 D
63+%:9 16 24z=y
e)0.81+9= 0.0 135:7= 0.5
% 1+0=q FRERES
g)o%_g_—, OQDDL‘ h)O.Q4_2+6=Q-DC>:\‘
32 1% = A

i) Find the quotient of 0.18 and 3
O. \% - ?3 - 0706
T+3=6

j) Find the quotient of 0.24and 6

0.4 6 = 0.0Y
A4=6=Y4

23




19) Solve the following:

@&
a)28x0.3= @ b)5‘£ll’x0-l7L- @
33 Tk L xS‘\
X ARED | o
k +ren cougt 2 8
54:‘!35- A.ch‘koj) {c\C(,lmuk g
A4X8.5= d) 45x 0.5 =
'%{g 300 ; Lt
E ., R S
34 o e X
e)C;\j7 X12= Li uy 1) 0.‘5% O.g‘?’: 3\
X 34 LO.Q 3% 53 Q3
\ 2 1A 3
' 3 Y 2399
3 3 0 & 2% % 2
g)6.6x2.4= =X h)9.1x37= 3 23 ¢
Ol%.¢ Q1
2 <
et W
i) Find product of 7.5 and 6.2 j) Find product of 2.2 and 8.4
3\
35 UsO 34
»en *p22 1348
|6 3
| 63 O
|EY 3

24




20) Solve the following:

a) The weight of a box js 3.7 kg.
what will be the weight of 18 boxes?

b b P X\B_—ééﬂol% G{q )
' @ | 9
oeighd of 13 boxes fﬁq\g
&5 Q

. b6 & o

b) Jan had $ 20. He bought a board game for $8.49 and
a book for $3.25. How much money does he have left?

8 3.4q Yo )

'+3°9_5 \\-‘:I'q

#\0AaY hemd fig-lﬂé'“’“
‘\\\JTD\-G-\

® J

= e e S O
-

c) Lily bought 6 boxes of pens each cost $12.4  if she gave $100 to
the shopkeeper. How much does she get in change?

(ex 24 By T S )
op C boxes G |
p 794 |
[OO— 76/-('/: 0’2560
) o $he 982% [n) (,Aa,.g‘o oy
4 4o 1

25




d) Sararun 5.85 miles each day for 9 days

How many miles did she run altogether?

( 5-?SXOQ:59_65

— (Q)

&<
| G535 )
"Miles  she raso -

\

N T‘b\‘&g aad &6 5

J

€) Mary and John are the fastest runners in the school. Mary’s best

record for running a mile is 9.5 minutes and John’s is 6.72

minutes. What is the difference in their records?

-

A A.5- 6.32 =278 FAS0 A
G/;FJ"/"cmCZ—- 2 18 3

f) Nicole and David want to buy a Mother’s Day present for their
mom. They found a purse for $55.99. Nicole has $32.8 and David

has $15.9 saved.

How much more money do they need in order to buy the purse for

their mom?

-

FA
(o 1saf T sd5saq )
v 3B E - 493.790

;ngo:i-. AR AT A
e ‘H'Wj Ncc’c/ mole.

3oneh \nowe e
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